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SECTION =1
Note :

Answer all the 14 questions,

Choose the correct answer from the given four alternataives a4 write IN€ pption code and the
corresponding answer.
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Two dice are rolled once Find the probability of getting an even number on the first die or atotal of face sum &

. 1 1 ]
o8 Simplify. il xh + 9 ”z'p’)
o p-1q+r 2qr
SECTION- v
Note: Answer both the questions choosing either of the alternatives. 2x8=15
43 a) Abusistravelling al a uniform speed of 50 km/hr. Draw the distance-ime graph and hence f -2
(i) the constant of vanation (i) How far will it travel in 11/, hour (i) the time required to cover a dsance
of 300 km from the graph
OR
b) Drawthe graphof y = x* + 3x - 4 and hence use tto solve x* + 3x -4 =0
44 a) Constructa APOR such that QR =6 5 cm, ZP = 60° and the altitude from P to QR is of length & © ==
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L) ' Take a point which is 11 cm away from the centre of a circle of radius 4 cm and draw the ..ot~ e =

" the circle from the points.
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